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GUJARAT TECHNOLOGICAL UNIVERSITY

Subject Name: MECHANICAL DRAFTING

Time:10:30 AM TO 01:30 PM

Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. Each question carry equal marks (14 marks)

Q1 (a)
ys. 1
(b)
ol
Q2 (a)
s 2w
(b)
ol

A square pyramid base sides 50 mm and axis 80 mm long has its triangular
face in the V.P. and edge of its base contained by that face makes an angle of
30 “with The V.P. Draw the projections of this pyramid.

50 H{ 3l weawt ofl ouey 2 80 1l Hl @il ol cloutss ot A5 WA AAMS
ofl As Asleusz Awdl Glell uutdl 1 &, a sleust: 1udl |

A ac(l weauell owey Qell uuidl 18 30° ol well slolld . L ARU
s sty alul €11,

A cone base 60 mm diameter and 90 mm long is resting in the H.P.on a point
of base circle. It‘s axis inclined at 60 ° to H.P. and 30 ° to V.P. Draws its
projection.

A5 oy oll waltell caud 50 HLH{L wal udl oll douss co {LHL 8.
il 2lg ol ©g] 281 AW ol AHLAR Aol ST AWl W so° ol

well oletld 8. cal Glel Awdl wa 30° oll well Glelld B. 3L 9§ ol
yaul ell

Fig. 1 shows pictorial drawing of an object. Draw the following views.

(1) Elevation (2) Sectional plan (3) R.H.S.V.

AUl 1 1l cdre oll @A ulle e 8 dl dotl ol Aol Euual €12
(1) Al Bullel.(R) BELMS GUR oll Bullal (3) wHER{ olyell Bulel

A square prism 30 mm side and 70 mm height is intersected by an another
square prism Having 25 mm side and 70 mm height. The axis of both the

prism is at right angle and Side of both the prism makes equal angle with V.P.
draw the intersecting curve.

A5 30HL{l.otty 2l vo Hl. {l. Qs ol ARRYB3H o ollesl 2w {3l
oty Aol 9o Hl{l L oll AR MM BED, Aoll vial Ul 5128l
% 8.2 olal s ofl ouoy 240 Gledl 1wl 0 vl vell olettd B ll
el 2l eauddl yaul €1l
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OR
nm diameter and 80 mm height cylinder resting on H. P. on its base is
intersected by another cylinder having 40 mm diameter and 80 mm height.
The axis of both the cylinder is bisect it at right angle and is parallel to V.P.
Draw intersecting curve of solids.

As 50 H{l. {l. ceuat ol ¢o Hl. Hl. QL ol stoust Sl AUl Hi el
ual v Glell 8 .Ael ¥o HlL.Hl. et ol ¢o HIHl Graus oll S\ stoust?
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A cone 60 mm diameter and its axis 80 mm long is resting on H.P. and on its
circular base. A cone is cut by a sectional plane passing through the apex of the
cone and cutting the base by remaining 40 mm away from the axis. Draw front
view, sectional top view and True shape of the section.

50 HL ML wall ol cat wsl ¢o HLHL G ofl wdl oll 2l dett w2
GUR US| AUElUR Glell 8. L ol ol Bkl Hell vk adl As
BeAwWdl dett wall A ul dlvo HlLHl. ollaldr 8l dgalsUD.
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Draw the development of surface of the cylinder of 50 mm base diameter
as shown in Fig. 2

A5 2 Ml gaueal Y 50 {la{l el tRledl stousiR ol awdl «
(AR €lRL

OR
A cylinder of 60 mm diameter and 80 mm long axis is standing on the H.P.
on its base. A sectional plane which is perpendicular to V.P. and inclined at 45
°to H.P and passing through a point on its axis 25 mm below the top base.
Draw its front view, sectional top view and true shape of the section

s o HlMl ceud et ¢o HlHl udl ofl coueS atol olousiz Aol wu
U ssludl 1 Qe 8. uls des Al Qefl uuwél ol dol & el vl qudl
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BELHS GUR oll Eullel, wal BEall vl w812 ELRL

Draw the development of surface of the cone of 50 mm base diameter
as shown in Fig. 3.

15(A 3 Ml eatcal Yyl wo Hl{l waiell ca tRnadl oy oluwél
oll [Aeli? €1RL

Figure 4. shows details of KNUCKLE JOINT. Draw the assembly drawing
Showing elevation and plan of an assembly of KNUCKLE JOINT.
Give necessary dimensions and prepare the part list.
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OR
Figure 5 .shows an assembly of a COTTER JOINT. Draw detail drawing at
least two views of each part. Give necessary dimensions and prepare the part
list.
AU (A w HLAs sleR At ol AdBd ewdll of L R e 8.
dotl el el ewdlloll oflAstl 2ultel €131 (1) AHAL 2ullel ( ) BUR ol

Bullel, dotl o33l vy eaalual wig (@2 el

Write the auto cad program to draw the sketch as shown in figure no. 6

UBEA g M2 ol 2l2l3s ol el

Sketch the following symbols (1) Refrigerant line (2) Condensate line
(3) Gate valve (4) Union (5) Plug valve (6) I weld (7) Fillet weld.

o{lAsll Rlosl €131 ( 1) Az 202 ALBA(R) S3A2 AlBel 3) 2 et
(%) YEael (5L cleel (5) % A (9) (3de des

1. Draw the surface finish symbol showing complete details on it as per 1S.
2. Explain the various type of
fits
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MD (320008) FIGURE

QUE-2.A (FIG.1)

QUE-3B (FIG2)
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QUE-3 B OR (F1IGJ3) QUE-SB (F1G.6)
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QUE-4 (Draw Assembly) (FIG4.)
TAKE d = 25 mm

DETAIL DRAWING OF YAROns pakTd OF A KNUCKLE JOINT .

Que-4 OR ( Draw DETAIL ) (FIG. 5.)
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